Smart- Reynolds ACT Open Yellow Defence to Forcing Pass
1* Seat

Pass= Normal Pass or 2C GF hand. GF hand will DBL or jump to new suit or in NT to show
GF hand.

All other bids except 2C are as per normal system.

2C= 4+, 4+ in Majors 6 to 10. Then 2D asks for better M. Then 2NT = GF ask (ie 2C: 2D
:2M :2NT) responses are 3C = min 44, 3D = max 44, 3 of better M = min 54, 3 of other M =
Max 54, 3NT = 64, 4C= min 55, 4D = max 55, 4H shows 65

If 2C gets dbld redbl says bid 2D and pass further bidding, 2D still asks for better M, pass
says can tolerate 2C (5 card suit).

2" Seat and 3" seat

Over pass play INT 15-18 system on. Bids are overcalls . Use INT as transfer to 2C and play
transfer advances. ie (P) 1C : INT= cue raise,

(P) 1D: INT =trf to C & 2C = cue raise,

(P) 1H: AINT =trfto C, 2C=trf to D & 2D = cue raise,

(P) 1S: INT =trfto C, 2C=trf to D, 2D = trf to H & 2H = cue raise,

Over 1S (or H) fert play INT = 12-14 and NT defence ie DBL is strong, 2C = D or 4M + 5m
etc. Afet strong BDL play 1 step negative.
If INT overcall gets dbld play redbl as bid 2C and pass, and bids show lower of 2 suits.



